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L 22,525
L 244,587

L 51,713

L 355,816

Kg 6,913
Kih 3,069,872
km 75,900
km 23,748
km 15,746
km 18,904
km 19,529
km 9,722
km 3,936
km 130,195
34

Kg 74,250
34,757

57,900




Cco2
CH4
PFC SF6

kg-C02

COo2 CH4 N20 HFC
3,488,296 135,030 65,290 663 | 3,682,920
94.55 3.66 177 0.02 100.00

1.77%

94.55%



52,258 kg-C02 1.50 %
609,022 kg-C02 17.46 %
135,488 kg-C02 3.89 %
964,261 kg-C02 27.64 %
(LPG) 20,739 kg-C02 0.59 %
1,703,779 kg-C02 48.84 %
2,749 kg-CO2 0.08 Y%
3,488,296 kg-CO2 100.00 %
80 kg-CH4 0.46 %
251 kg-CH4 1.44 %
17,090 kg-CH4 98.10 %
17,421 kg-CH4 100.00 %
2,210 kg-N20 3.38 %
63,080 kg-N20 96.62 Y%
65,290 kg-CH4 100.00 %
663 kg-HFC 100.00 %
CcOo2 CH4
0.08%4\\ 1.50%
17.46%

3.89%

48.84%

27.64%

(LPG)
0.59%

10

99.75%




